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Sutapa Chakraborty

Rudyard Kipling honoured motherhood with these words: "God could not be everywhere and. therefore. he
made mothers.” This is similar to what Sarada Devi, reffered to as Holy Mother by her disciples, would say
quoting her husband, Ramakrishana Paramhansa: "He had the attitude of a mother towards all creations and he
has left me behind to demonstrate this motherhood of God." That. she said. was her purpose in life.

A mother's role 1§ multifaceted. She is also her child's first teacher. And Sarada Devi fully imbibed and
imparted the philosophy of "Vigyan Vedanta'. demonstrating how all those teachings could be applied to make
our own lives blessed.

In her own way, she taught "as many faiths. so many paths". Brahmn, according to her, was in all things and in
all ereatures. Though the realised souls have imparted ditferent teachings, and they don't say the same thing.
however, since there are many paths leading to the same goal. all of their teachings are true. She gave a unique
analogy for this. Imagine a tree with birds of different colours and plumage sitting and singing a wide variety
of notes in varying octaves. We do not say that any one particular bird's chirp is the chirp. and the rest are not.
She would say that founders of all religions are realised souls and they have witnessed diffferent aspects of
God on the basis of their own experience, and they are all correct as they have indeed known the truth. They
are wrong in generalising it. though. Actually, they are only referring to different forms and aspects of one and
the same infinite. divine reality.

Demonstrating harmony of religions i her day-to-day life and a mother's unconditional love for all. Sr1 Ma
would say that the Muslin labourer called Amjad working for her was as much her son as was Sarat. Swami
Saradananda. her personal attendant. When Sister Nivedita, Swami Vivekananda's disciple, came to visit her.
Ma Sarada embraced and accepted her as her own daughter. She maintained that the infinite divine reality 1s
nirgun formless. in one aspect. and also sagun. with form. Once. when asked by a monk, "Are you really the
mother of all? Even the birds, insects and beasts?" She said. "Yes". At her home in Jayrambati, West Bengal,
when a monk once hit a cat, the Holy Mother was deeply hurt and said, "Don't beat it. Feed it. o it will not
steal food. I live in that cat."

Pray for desirelessness. was her advice. If one can entirely give up all wordly desires. they can get a vision of
God right away. she believed. Her final and most profound teaching was that if you want peace of mind. do
not find faults with others. Rather. learn to see your own faults. "Learn to accept the whole world as your own.
No one is a stranger, my child." she would say.

Sub questions

Question Number : 1 Question Id : 6863407482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"God could not be every where and. therefore he made mother” who said this.

1. Sarada Devi
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. Ramalkrishna Paramahansa
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. Rudyard Kipling
4. Sutapa Chakraborty
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68634029603. 3
68634029604. 4

Question Number : 2 Question Id : 6863407483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Vigyan Vedanta' philosophy could be applied to make our own lives blessed. Sarada Devi fully imbibed and
imparted this philosophy.

Here imbibed means

1. Kill ideas or Knowledge

| )

. Literary absorb (ideas or knowledge)
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. Drink (alcohol)
4. Absorb water
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68634029605. 1
68634029606. 2
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Question Number : 3 Question Id : 6863407484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Different aspects of God means:

A. Different nature of God
B. Different character of God
C. Different feature of God
D. DIfferent identity of God

Choose the most appropriate answer:

1. A Bonly

| B

.A.B.C.D only

[FN]

A, B. Conly
4. D only

Options :

68634029609. 1
68634029610. 2
68634029611. 3
68634029612. 4
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Correct Marks : 4 Wrong Marks : 1
"Plumage" means:

1. A singing bird

-2

. A bird of unique colour
3. A bird's feathers collectively
4. Number of birds chirping together
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68634029613. 1
68634029614. 2
68634029615. 3
68634029616. 4

Question Number : 5 Question Id : 6863407486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who were described as Sri Ma Sarada Devi's children in the passage. The list must include all the names
described:

1. Amjad. Sarat. Swami Vivekananda

[ ]

. Sarat. Swami Vivekananda
3. Nivedita, Amjad. Sarat
4. Nivedita. Swami Saradananda, Amjad, Sarat

Options :

68634029617. 1
68634029618. 2
68634029619. 3
68634029620. 4
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Sutapa Chakraborty

Rudyard Kipling honoured motherhood with these words: "God could not be everywhere and. therefore. he
made mothers.” This is similar to what Sarada Devi, reffered to as Holy Mother by her disciples, would say
quoting her husband, Ramakrishana Paramhansa: "He had the attitude of a mother towards all creations and he
has left me behind to demonstrate this motherhood of God." That. she said. was her purpose in life.

A mother's role 1§ multifaceted. She is also her child's first teacher. And Sarada Devi fully imbibed and
imparted the philosophy of "Vigyan Vedanta'. demonstrating how all those teachings could be applied to make
our own lives blessed.

In her own way, she taught "as many faiths. so many paths". Brahmn, according to her, was in all things and in
all ereatures. Though the realised souls have imparted ditferent teachings, and they don't say the same thing.
however, since there are many paths leading to the same goal. all of their teachings are true. She gave a unique
analogy for this. Imagine a tree with birds of different colours and plumage sitting and singing a wide variety
of notes in varying octaves. We do not say that any one particular bird's chirp is the chirp. and the rest are not.
She would say that founders of all religions are realised souls and they have witnessed diffferent aspects of
God on the basis of their own experience, and they are all correct as they have indeed known the truth. They
are wrong in generalising it. though. Actually, they are only referring to different forms and aspects of one and
the same infinite. divine reality.

Demonstrating harmony of religions i her day-to-day life and a mother's unconditional love for all. Sr1 Ma
would say that the Muslin labourer called Amjad working for her was as much her son as was Sarat. Swami
Saradananda. her personal attendant. When Sister Nivedita, Swami Vivekananda's disciple, came to visit her.
Ma Sarada embraced and accepted her as her own daughter. She maintained that the infinite divine reality 1s
nirgun formless. in one aspect. and also sagun. with form. Once. when asked by a monk, "Are you really the
mother of all? Even the birds, insects and beasts?" She said. "Yes". At her home in Jayrambati, West Bengal,
when a monk once hit a cat, the Holy Mother was deeply hurt and said, "Don't beat it. Feed it. o it will not
steal food. I live in that cat."

Pray for desirelessness. was her advice. If one can entirely give up all wordly desires. they can get a vision of
God right away. she believed. Her final and most profound teaching was that if you want peace of mind. do
not find faults with others. Rather. learn to see your own faults. "Learn to accept the whole world as your own.
No one is a stranger, my child." she would say.
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"Vigyan Vedanta' philosophy could be applied to make our own lives blessed. Sarada Devi fully imbibed and
imparted this philosophy.

Here imbibed means

1. Kill ideas or Knowledge
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. Drink (alcohol)
4. Absorb water
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Different aspects of God means:

A. Different nature of God
B. Different character of God
C. Different feature of God
D. DIfferent identity of God

Choose the most appropriate answer:

1. A Bonly

| B

.A.B.C.D only

[FN]

A, B. Conly
4. D only

Options :
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"Plumage" means:

1. A singing bird
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. A bird of unique colour
3. A bird's feathers collectively
4. Number of birds chirping together

Options :

68634029613. 1
68634029614. 2
68634029615. 3
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Who were described as Sri Ma Sarada Devi's children in the passage. The list must include all the names
described:

1. Amjad. Sarat. Swami Vivekananda
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. Sarat. Swami Vivekananda
3. Nivedita, Amjad. Sarat
4. Nivedita. Swami Saradananda, Amjad, Sarat
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Sutapa Chakraborty

Rudyard Kipling honoured motherhood with these words: "God could not be everywhere and. therefore. he
made mothers.” This is similar to what Sarada Devi, reffered to as Holy Mother by her disciples, would say
quoting her husband, Ramakrishana Paramhansa: "He had the attitude of a mother towards all creations and he
has left me behind to demonstrate this motherhood of God." That. she said. was her purpose in life.

A mother's role 1§ multifaceted. She is also her child's first teacher. And Sarada Devi fully imbibed and
imparted the philosophy of "Vigyan Vedanta'. demonstrating how all those teachings could be applied to make
our own lives blessed.

In her own way, she taught "as many faiths. so many paths". Brahmn, according to her, was in all things and in
all ereatures. Though the realised souls have imparted ditferent teachings, and they don't say the same thing.
however, since there are many paths leading to the same goal. all of their teachings are true. She gave a unique
analogy for this. Imagine a tree with birds of different colours and plumage sitting and singing a wide variety
of notes in varying octaves. We do not say that any one particular bird's chirp is the chirp. and the rest are not.
She would say that founders of all religions are realised souls and they have witnessed diffferent aspects of
God on the basis of their own experience, and they are all correct as they have indeed known the truth. They
are wrong in generalising it. though. Actually, they are only referring to different forms and aspects of one and
the same infinite. divine reality.

Demonstrating harmony of religions i her day-to-day life and a mother's unconditional love for all. Sr1 Ma
would say that the Muslin labourer called Amjad working for her was as much her son as was Sarat. Swami
Saradananda. her personal attendant. When Sister Nivedita, Swami Vivekananda's disciple, came to visit her.
Ma Sarada embraced and accepted her as her own daughter. She maintained that the infinite divine reality 1s
nirgun formless. in one aspect. and also sagun. with form. Once. when asked by a monk, "Are you really the
mother of all? Even the birds, insects and beasts?" She said. "Yes". At her home in Jayrambati, West Bengal,
when a monk once hit a cat, the Holy Mother was deeply hurt and said, "Don't beat it. Feed it. o it will not
steal food. I live in that cat."

Pray for desirelessness. was her advice. If one can entirely give up all wordly desires. they can get a vision of
God right away. she believed. Her final and most profound teaching was that if you want peace of mind. do
not find faults with others. Rather. learn to see your own faults. "Learn to accept the whole world as your own.
No one is a stranger, my child." she would say.
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"God could not be every where and. therefore he made mother” who said this.
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68634029603. 3
68634029604. 4
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"Vigyan Vedanta' philosophy could be applied to make our own lives blessed. Sarada Devi fully imbibed and
imparted this philosophy.

Here imbibed means

1. Kill ideas or Knowledge
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. Literary absorb (ideas or knowledge)
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. Drink (alcohol)
4. Absorb water

Options :

68634029605. 1
68634029606. 2
68634029607. 3
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Different aspects of God means:

A. Different nature of God
B. Different character of God
C. Different feature of God
D. DIfferent identity of God

Choose the most appropriate answer:

1. A Bonly

| B

.A.B.C.D only
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A, B. Conly
4. D only

Options :

68634029609. 1
68634029610. 2
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"Plumage" means:

1. A singing bird
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. A bird of unique colour
3. A bird's feathers collectively
4. Number of birds chirping together
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Who were described as Sri Ma Sarada Devi's children in the passage. The list must include all the names
described:

1. Amjad. Sarat. Swami Vivekananda
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. Sarat. Swami Vivekananda
3. Nivedita, Amjad. Sarat
4. Nivedita. Swami Saradananda, Amjad, Sarat

Options :
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Out of the following options select the word that 1s correctly spelt:

1. CONVELESENSE

| )

. CONVALASENCE
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. CONVALESENSE

4. CONVALESCENCE

Options :
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Out of the following options select the word that 1s correctly spelt:

1. CONVELESENSE
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. CONVALASENCE
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4. CONVALESCENCE

Options :

68634029621. 1
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Out of the following options select the word that 1s correctly spelt:

1. CONVELESENSE
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. CONVALASENCE
3. CONVALESENSE

4. CONVALESCENCE

Options :
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68634029623. 3
68634029624. 4
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Despite the family's insistence that she should get married. She has set her face against the idea. The
underlined idiom implies that:

1. She got out of the difficulty on her own.

| ]

. She opposed the idea with determination.
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. She pitched herself against her parents.
4. She refused to confront and convince her parents

Options :
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Despite the family's insistence that she should get married. She has get her face against the idea. The
underlined idiom implies that:

1. She got out of the difficulty on her own.

[ ]

. She opposed the idea with determination.
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. She pitched herself against her parents.

4. She retused to confront and convinee her parents

Options :
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Despite the family's insistence that she should get married. She has set her face against the idea. The
underlined idiom implies that:

1. She got out of the difficulty on her own.

| ]

. She opposed the idea with determination.
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. She pitched herself against her parents.
4. She refused to confront and convince her parents
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Choose a synonym of the underlined word.
Rohit's lugubrious eulogy at the funeral of his dog eventually made everyone start gigling.
1. morass
2. Sonorant
3. meloncholy
4. somber
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Choose a synonym of the underlined word.
Rohit's lugubrious eulogy at the funeral of his dog eventually made everyone start gigling.

1. morass
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. Sonorant
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4. somber
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Choose a synonym of the underlined word.

Rohit's lugubrious eulogy at the funeral of his dog eventually made everyone start gigling.

1. morass

| B

. Sonorant
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. meloncholy
4. somber
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Choose a word opposite to the meaning of the underlined word.

History 1s replete with deeds of cruel and capricious kings.

1. erratic

| B

. steady
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. Acquise
4. humble

Options :

68634029633. 1
68634029634. 2
68634029635. 3
68634029636. 4
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Choose a word opposite to the meaning of the underlined word.

History iz replete with deeds of cruel and capricious kings.

1. erratic
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. steady
3. acquise
4. humble

Options :

68634029633. 1
68634029634. 2
68634029635. 3
68634029636. 4

Question Number : 9 Question Id : 6863407490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose a word opposite to the meaning of the underlined word.

History 1s replete with deeds of cruel and capricious kings.

1. erratic
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A severe deserved punishment
1. Reformation
2. Retribution
3. Revisionism
4. Retreat
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A severe deserved punishment

1. Reformation
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A sum of money doubles itself on simple interest in 10 years. Find the rate of interest per annum.

1. 10%
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Options :
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68634029643. 3
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Question Number : 11 Question Id : 6863407492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sum of money doubles itself on simple interest in 10 years. Find the rate of interest per annum.
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A sum of money doubles itself on simple interest in 10 years. Find the rate of interest per annum.

1. 10%

2
a

2
&

4. 8%

Options :

68634029641. 1
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68634029644. 4

Question Number : 12 Question Id : 6863407493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An athlete takes as much time in running 200 m as a car takes in covering 500m. The distance covered by the
athlete during the time the car covers 2 km 1s :

1. 500 m

| ]

. 600 m

. 750 m

[FN]

4. 800 m

Options :
68634029645. 1
68634029646. 2



68634029647. 3
68634029648. 4

Question Number : 12 Question Id : 6863407493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An athlete takes as much time in running 200 m as a car takes in covering 500m. The distance covered by the
athlete during the time the car covers 2 km 1s :

1. 500 m
2.600 m

750 m

LFN]

4. 800 m

Options :

68634029645. 1
68634029646. 2
68634029647. 3
68634029648. 4

Question Number : 12 Question Id : 6863407493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An athlete takes as much time in running 200 m as a car takes in covering 500m. The distance covered by the
athlete during the time the car covers 2 km 1s :

1. 500 m

| ]

. 600 m

. 750 m

[FN]

4. 800 m

Options :

68634029645. 1
68634029646. 2
68634029647. 3
68634029648. 4

Question Number : 13 Question Id : 6863407494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If cot? 45° — sin® 45° =K sin? 30° x tan® 45° x sec” 45. then the value of K is

[ )
uan

3:1:5
4.2

Options :

68634029649. 1
68634029650. 2
68634029651. 3
68634029652. 4

Question Number : 13 Question Id : 6863407494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cot? 45° — sin® 45° =K sin? 30° x tan® 45° x sec” 45. then the value of K is

| B
—

35
42

Options :

68634029649. 1
68634029650. 2
68634029651. 3
68634029652. 4

Question Number : 13 Question Id : 6863407494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cot? 45° — sin® 45° =K sin? 30° x tan® 45° x sec” 45. then the value of K is

| B
—

315
4.2
Options :

68634029649. 1
68634029650. 2



68634029651. 3
68634029652. 4

Question Number : 14 Question Id : 6863407495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. i . . . . .
The area of a rhombus 1s 120 em* and length of its one diagonal is 24 cm. Find the perimeter of the rhombus
(in cm).

1. 50

| (]
]
|

4.56

Options :

68634029653. 1
68634029654. 2
68634029655. 3
68634029656. 4

Question Number : 14 Question Id : 6863407495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 2 . . . . .
The area of a rhombus is 120 cm* and length of its one diagonal is 24 cm. Find the perimeter of the rhombus
(in cm).

1. 50

| ]
L
|

4. 56

Options :

68634029653. 1
68634029654. 2
68634029655. 3
68634029656. 4

Question Number : 14 Question Id : 6863407495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. 7 - . . - -
The area of a rhombus is 120 e and length of its one diagonal is 24 em. Find the perimeter of the thombus
(in em).

1. 50

2752

4. 56

Options :

68634029653. 1
68634029654. 2
68634029655. 3
68634029656. 4

Question Number : 15 Question Id : 6863407496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The monthly income and expenditure of a person were 210.000 and ¥6.000 respectively. Next year, huis income
increased by 15% and his expenditure increased by 8%. Then the percentage increase in his savings 1s:

1.

[

0%

[ )
[ B
LA

[=]

3,25.5%
4.52.5%

Options :

68634029657. 1
68634029658. 2
68634029659. 3
68634029660. 4

Question Number : 15 Question Id : 6863407496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The monthly income and expenditure of a person were 210,000 and 36.000 respectively. Next yvear, his income
increased by 15% and his expenditure increased by 8%. Then the percentage increase in his savings is:

1. 20%

[ )
[ B
LA

[=]



Options :

68634029657. 1
68634029658. 2
68634029659. 3
68634029660. 4

Question Number : 15 Question Id : 6863407496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The monthly income and expenditure of a person were 210,000 and 36.000 respectively. Next yvear, his income
increased by 15% and his expenditure increased by 8%. Then the percentage increase in his savings is:

1.

| ]

0%

[ )
[ B
LA
Br=1
&=

L]
| ]
L
L
-
o

4.

LA
| ]
LA
=
=]

Options :

68634029657. 1
68634029658. 2
68634029659. 3
68634029660. 4

Question Number : 16 Question Id : 6863407497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ajay said, "This girl is the wife of the grandson of my mother”. Who 18 Ajay to the girl?
1. Father
2. Father-in-law
3. Cousin
4. Brother

Options :

68634029661. 1
68634029662. 2
68634029663. 3
68634029664. 4

Question Number : 16 Question Id : 6863407497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ajay said, "This girl is the wife of the grandson of my mother”. Who 18 Ajay to the girl?

1. Father

b2

. Father-in-law
3. Cousin
4. Brother

Options :

68634029661. 1
68634029662. 2
68634029663. 3
68634029664. 4

Question Number : 16 Question Id : 6863407497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ajay said, "This girl is the wife of the grandson of my mother”. Who 18 Ajay to the girl?

1. Father

b2

. Father-in-law
3. Cousin
4. Brother

Options :

68634029661. 1
68634029662. 2
68634029663. 3
68634029664. 4

Question Number : 17 Question Id : 6863407498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two boys and two girls are playing cards and are seated at North, East. South and West of a table. No boy is
tacing East. Persons sitting opposite to each other are not of the same sex. One girl i facing South. Which
directions are the boys facing?

1. North and West

| )

. East and North
3. East and West

4. East and South

Options :
68634029665. 1



68634029666. 2
68634029667. 3
68634029668. 4

Question Number : 17 Question Id : 6863407498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two boys and two girls are playing cards and are seated at North, East. South and West of a table. No boy is
tacing East. Persons sitting opposite to each other are not of the same sex. One girl is facing South. Which
directions are the boys facing?

1. North and West

[ )

. East and North
3. East and West

4. East and South

Options :

68634029665. 1
68634029666. 2
68634029667. 3
68634029668. 4

Question Number : 17 Question Id : 6863407498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two boys and two girls are playing cards and are seated at North, East. South and West of a table. No boy is
tacing East. Persons sitting opposite to each other are not of the same sex. One girl is facing South. Which
directions are the boys facing?

1. North and West
2. East and North
3. East and West

4. East and South

Options :

68634029665. 1
68634029666. 2
68634029667. 3
68634029668. 4

Question Number : 18 Question Id : 6863407499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement:

I. Rabindranath Tagore wrote many poems.

II. Every poet has aesthetic knowledge.

III. Aesthetic is a part of axiological study.
Conclusions:

I. Rabindranath Tagore did different axiological studies.
I1. He followed the base of logic and ethics.

1. If only conclusion I follow

| B

. If only conclusion II follow
3. If either conclusion I or IT follow

4. If neither conclusion I nor II follow

Options :

68634029669. 1
68634029670. 2
68634029671. 3
68634029672. 4

Question Number : 18 Question Id : 6863407499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement:

I. Rabindranath Tagore wrote many poems.

II. Every poet has aesthetic knowledge.

III. Aesthetic is a part of axiological study.
Conclusions:

I. Rabindranath Tagore did different axiological studies.
I1. He followed the base of logic and ethics.

1. If only conclusion I follow

| B

. If only conclusion II follow
3. If either conclusion I or IT follow

4. If neither conclusion I nor II follow

Options :

68634029669. 1
68634029670. 2
68634029671. 3
68634029672. 4

Question Number : 18 Question Id : 6863407499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement:

I. Rabindranath Tagore wrote many poems.

1. Every poet has aesthetic knowledge.

II1. Aesthetic is a part of axiological study.
Conclusions:

I. Rabindranath Tagore did different axiological studies.
I1. He followed the base of logic and ethics.

1. If only conclusion I follow

| )

. If only conclusion II follow
3. If either conclusion I or II follow

4. If neither conclusion I nor II follow

Options :

68634029669. 1
68634029670. 2
68634029671. 3
68634029672. 4

Question Number : 19 Question Id : 6863407500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the missing number:

| B}

44
3. 46
4.48

Options :

68634029673. 1
68634029674. 2
68634029675. 3
68634029676. 4



Question Number : 19 Question Id : 6863407500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the missing number:

| B}

44

46

LFN]

4.48

Options :

68634029673. 1
68634029674. 2
68634029675. 3
68634029676. 4

Question Number : 19 Question Id : 6863407500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the missing number:

| )

44

46

[FN]

4. 48

Options :

68634029673. 1
68634029674. 2
68634029675. 3
68634029676. 4



Question Number : 20 Question Id : 6863407501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the missing term in the given number series.

=1 0, 7,26, 63,2 ;215,342 ...

L 172

| B

142
3.124
4.134

Options :

68634029677. 1

68634029678. 2

68634029679. 3
68634029680. 4

Question Number : 20 Question Id : 6863407501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the missing term in the given number series.

=1 0, 7,26, 63,2 ;215,342 ...

L 172

| B

142
3.124
4. 134

Options :

68634029677. 1
68634029678. 2
68634029679. 3
68634029680. 4

Question Number : 20 Question Id : 6863407501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the missing term i the given number series.
=1, 0. 7,26, 63.7 ;215,342 ...

b 172

| B

142
3.124
4,134

Options :

68634029677. 1

68634029678. 2

68634029679. 3
68634029680. 4

Question Number : 21 Question Id : 6863407502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which player has won Gold in Women's Air pistol at the 65 National shooting Championship, 20227

1. Sanskriti Bana

| )

. Divya T. 8.

[F%]

. Manu Bhaker
4. Rhythm Sangwan

Options :

68634029681. 1
68634029682. 2
68634029683. 3
68634029684. 4

Question Number : 21 Question Id : 6863407502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which player has won Gold in Women's Air pistol at the 65™ National shooting Championship, 20227

1. Sanskriti Bana

[ ]

.Divya T. 8.

L]

. Manu Bhaker
4. Rhythm Sangwan

Options :



68634029681. 1
68634029682. 2
68634029683. 3
68634029684. 4

Question Number : 21 Question Id : 6863407502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which player has won Gold in Women's Air pistol at the 65™ National shooting Championship, 20227

1. Sanskriti Bana

[ ]

. Divya T. 8.

Laa

. Manu Bhaker
4. Rhythm Sangwan

Options :

68634029681. 1
68634029682. 2
68634029683. 3
68634029684. 4

Question Number : 22 Question Id : 6863407503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{Nobel Prize Awarde from India) (Field)
A [Kailash Satyarthi I |Chemistry
B. |Abhijit Banerjee II. |Peace
C. [Venkatraman Ramakrishnan III. |Physics
D. |Subrahmanvan Chandrasekhar IV. |[Economics

Choose the correct answer from the options given below:

1. A-II. B-IV. C-1. D-ITI

I

CA-IV. B-I1, C-1. D-III

L

A-TL B-TIV, C-III. D-I
4. A-IIL. B-IV. C-1. D-II

Options :

68634029685. 1
68634029686. 2
68634029687. 3
68634029688. 4



Question Number : 22 Question Id : 6863407503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{Nobel Prize Awarde from India) (Field)
A |Kailash Satvarthi L |Chemistry
B. |Abhijit Banerjee IT. |Peace
C. |Venkatraman Ramakrishnan 1II. |Physics
D. |Subrahmanyvan Chandrasekhar IV |Economics

Choose the correct answer from the options given below:

1. A-II. B-IV. C-1. D-ITI

| §)

CA-IV. B-I1, C-1, D-III
3. A-IL B-IV. C-1II. D-1
4. A-IIL. B-IV. C-1. D-II

Options :

68634029685. 1
68634029686. 2
68634029687. 3
68634029688. 4

Question Number : 22 Question Id : 6863407503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{Nobel Prize Awarde from India) (Field)
A [Kailash Satyarthi I |Chemistry
B. |Abhijit Banerjee II. |Peace
C. [Venkatraman Ramakrishnan III. |Physics
D. |Subrahmanvan Chandrasekhar IV. |[Economics

Choose the correct answer from the options given below:

1. A-II. B-IV. C-1. D-ITI

I

CA-IV. B-I1, C-1. D-III
3. A-IL. B-IV., C-I11, D-1
4. AL B-IV. C-1. D-II
Options :

68634029685. 1
68634029686. 2



68634029687. 3
68634029688. 4

Question Number : 23 Question Id : 6863407504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who has been awarded the first prize in the National MSME Award 20227

1. Assam

| §)

. Odisha

%]

. Gujarat
4. Uttar Pradesh

Options :

68634029689. 1
68634029690. 2
68634029691. 3
68634029692. 4

Question Number : 23 Question Id : 6863407504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who has been awarded the first prize in the National MSME Award 20227

1. Assam

| §)

. Odisha

%]

. Gujarat
4. Uttar Pradesh

Options :

68634029689. 1
68634029690. 2
68634029691. 3
68634029692. 4

Question Number : 23 Question Id : 6863407504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who has been awarded the first prize in the National MSME Award 20227

1. Assam

| )

. Odisha

%]

. Gujarat
4. Uttar Pradesh

Options :

68634029689. 1
68634029690. 2
68634029691. 3
68634029692. 4

Question Number : 24 Question Id : 6863407505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : When a ray of white light is passed through a prism. it gets splitted into its constituents colours.
This phenomenon 1s called dispersion of light.

Statement II : Rainbow is formed due to dispersion of sunlight by water droplets.
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634029693. 1
68634029694. 2

68634029695. 3
68634029696. 4

Question Number : 24 Question Id : 6863407505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I : When a ray of white light is passed through a prism. it gets splitted into its constituents colours.
This phenomenon is called dispersion of light.

Statement II : Rainbow is formed due to dispersion of sunlight by water droplets.
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634029693. 1
68634029694. 2

68634029695. 3
68634029696. 4

Question Number : 24 Question Id : 6863407505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : When a ray of white light is passed through a prism. it gets splitted into its constituents colours.
This phenomenon is called dispersion of light.

Statement II : Rainbow is formed due to dispersion of sunlight by water droplets.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement [ is correct but Statement II 1s incorrect
4. Statement I 1s incorrect but Statement II is correct
Options :
68634029693. 1
68634029694, 2

68634029695. 3
68634029696. 4

Question Number : 25 Question Id : 6863407506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ISRO successfully put three satellites of which country into space orbit with PSLV-C537?

1. USA

| 5]

. Singapore
3. Brazil
4. Spain

Options :

68634029697. 1
68634029698. 2
68634029699. 3
68634029700. 4

Question Number : 25 Question Id : 6863407506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ISRO successfully put three satellites of which country into space orbit with PSLV-C537?
1. USA
2. Singapore
3. Brazil

4. Spain

Options :

68634029697. 1
68634029698. 2
68634029699. 3
68634029700. 4

Question Number : 25 Question Id : 6863407506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ISRO successfully put three satellites of which country into space orbit with PSLV-C537?

1. USA

[ 5]

. Singapore
3. Brazil
4. Spain
Options :

68634029697. 1
68634029698. 2



68634029699. 3
68634029700. 4

Part B: Assamese

Section Id : 686340150
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 63
Number of Questions to be attempted : 63

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340235
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 6863407507 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 6863407508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029703. 3
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Question Number : 27 Question Id : 6863407509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 28 Question Id : 6863407510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 29 Question Id : 6863407511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 30 Question Id : 6863407512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 6863407507 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 6863407508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

*[FIRH(G V5. [$F *=FEC W] - 93 IF6T GIFIS GTUF O1 (@6 U TOIE0%?
1. SI51E SFIEY6E Lg< FAH ~IZ |
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@S ST W12 IS OPTFIR CFae A5 YLT (2 IO ST A= FHi<9 o]

3, WS Aoy 8 B[ HAAN A=z |

A, SFIEYIG WX J12 U= W FeA(w (Z0F]

Options :

68634029701. 1
68634029702. 2
68634029703. 3
68634029704. 4



Question Number : 27 Question Id : 6863407509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
" AT 2R T Gia=d HIa Abe” - FUNHES 4Fs 9 &
1. GO H0

2. SN BT AT ST 206 WA A612 Y9 WS B | LY AN I I29 |

3. ST (T4 ST =24 <1051

4. (™IS ARG |

Options :

68634029705. 1
68634029706. 2
68634029707. 3
68634029708. 4

Question Number : 28 Question Id : 6863407510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR[F AHS (I I N6 M o9 oo 52

£
1. “Mlic o<k A F411

2. Afew AfeEs weme F41)
3. AHST NARG, FHD WE P18 (THITATF (TFEY Fi ©E A ori¥e T4

4. GIFIS T (AN FF WP Ao (AT 9900 561 F

Options :
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Question Number : 29 Question Id : 6863407511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 30 Question Id : 6863407512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 6863407507 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 6863407508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

*[FIRH(G V5. [$F *=FEC W] - 93 IF6T GIFIS GTUF O1 (@6 U TOIE0%?
1. SI51E SFIEY6E Lg< FAH ~IZ |

b2

@S ST W12 IS OPTFIR CFae A5 YLT (2 IO ST A= FHi<9 o]

3, WS Aoy 8 B[ HAAN A=z |

A, SFIEYIG WX J12 U= W FeA(w (Z0F]

Options :

68634029701. 1
68634029702. 2
68634029703. 3
68634029704. 4



Question Number : 27 Question Id : 6863407509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
" AT 2R T Gia=d HIa Abe” - FUNHES 4Fs 9 &
1. GO H0

2. SN BT AT ST 206 WA A612 Y9 WS B | LY AN I I29 |

3. ST (T4 ST =24 <1051

4. (™IS ARG |

Options :

68634029705. 1
68634029706. 2
68634029707. 3
68634029708. 4

Question Number : 28 Question Id : 6863407510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 29 Question Id : 6863407511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 30 Question Id : 6863407512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 686340236
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 6863407513 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 6863407514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 32 Question Id : 6863407515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 33 Question Id : 6863407516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 34 Question Id : 6863407517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 35 Question Id : 6863407518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 6863407513 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 6863407514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T GHA (P2 AL FEF (A (9121 e
1. =iy
2. 4919y
3. AFNgER
4. B2

Options :

68634029721. 1
68634029722. 2
68634029723. 3
68634029724. 4



Question Number : 32 Question Id : 6863407515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 33 Question Id : 6863407516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 34 Question Id : 6863407517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 35 Question Id : 6863407518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 6863407513 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 6863407514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029721. 1
68634029722 2
68634029723. 3
68634029724. 4



Question Number : 32 Question Id : 6863407515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 33 Question Id : 6863407516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 34 Question Id : 6863407517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 35 Question Id : 6863407518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029737. 1
68634029738. 2
68634029739. 3
68634029740. 4

Sub-Section Number : 3
Sub-Section Id : 686340237
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 6863407519 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6863407520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. O FILS TGLATOF WHETS BECFAT FII5 TAMGF|
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Options :

68634029741. 1
68634029742. 2
68634029743. 3
68634029744. 4

Question Number : 37 Question Id : 6863407521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029745. 1
68634029746. 2
68634029747. 3
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Question Number : 38 Question Id : 6863407522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029749. 1
68634029750. 2
68634029751. 3
68634029752. 4

Question Number : 39 Question Id : 6863407523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029754. 2
68634029755. 3
68634029756. 4

Question Number : 40 Question Id : 6863407524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029758. 2
68634029759. 3
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Question Id : 6863407519 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)
Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6863407520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4, VIIGIR 45 (% I 12 (2R |

Options :

68634029741. 1
68634029742. 2
68634029743. 3
68634029744. 4

Question Number : 37 Question Id : 6863407521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029745. 1
68634029746. 2
68634029747. 3
68634029748. 4

Question Number : 38 Question Id : 6863407522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X[¢FH9 (T 1 V4T (99 Tfergs oS (6 217 wige
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68634029749. 1
68634029750. 2
68634029751. 3
68634029752. 4

Question Number : 39 Question Id : 6863407523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WK (73 (ST TSI (== NMeget?
1. §% ABRTe @iy o5 5y M|
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68634029754. 2
68634029755. 3
68634029756. 4

Question Number : 40 Question Id : 6863407524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029757. 1
68634029758. 2
68634029759. 3
68634029760. 4

Question Id : 6863407519 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)
Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6863407520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029741. 1
68634029742. 2
68634029743. 3
68634029744. 4

Question Number : 37 Question Id : 6863407521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029745. 1
68634029746. 2
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Question Number : 38 Question Id : 6863407522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 39 Question Id : 6863407523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 40 Question Id : 6863407524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (98 *[3FF (M YW W5 S1iRe |
2. *3FF (A ZIHF F (T W= SR [0 FEFe G 06 (57 959 32 SRE|
3. WK (L S| B9 Hi<ee |

4. W& (AL Azws JE Sk

Options :

68634029757. 1
68634029758. 2
68634029759. 3
68634029760. 4

Sub-Section Number : 4
Sub-Section Id : 686340238
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 6863407525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029761. 1
68634029762. 2
68634029763. 3
68634029764. 4

Question Number : 41 Question Id : 6863407525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 41 Question Id : 6863407525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 42 Question Id : 6863407526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 42 Question Id : 6863407526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s STz W =62
1. ffs sifEer 1f8e wors gy 3oy anfas iz
2. WA WWE I72E S 1|
3. X 511 S6IF (2T I
4. 3 SRy |

Options :

68634029765. 1
68634029766. 2
68634029767. 3
68634029768. 4

Question Number : 42 Question Id : 6863407526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gl RSy W= <62
1. A< mfzer 51fEe =5 Sy 0y anfas fzer)

2. IS WHE 7= F91 ©I |

3. 3 F1911E BT (=€ S
4, ifﬁ"fﬂ?i iﬁ\:ﬁl

Options :

68634029765. 1
68634029766. 2
68634029767. 3
68634029768. 4

Question Number : 43 Question Id : 6863407527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



©elq (BLEI CfYs SifRers 56 959

1. R (IfeT<p, Gifes Moy |

RIS WIS I [0Te 5471
3. AR(JS el AT s JiE|
4. SRR NAOT S|

Options :

68634029769. 1
68634029770. 2
68634029771. 3
68634029772. 4

| o)

Question Number : 43 Question Id : 6863407527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WoTd (FALGI CHEF WiEeTq 756 =17

1. 2 Ciferes, wfos M|
| AR(A1E WYTS F (U 5971
3. JE(A1F o4 Wiz gL i3 |

— SO e,
4, A4l (NI F|

| 5]

Options :

68634029769. 1
68634029770. 2
68634029771. 3
68634029772. 4

Question Number : 43 Question Id : 6863407527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

weTd (FWLGI CHEF Wiz 756 w521

1. & Cliferss, Tfed Mo |
2. RTIE WS F99 (U I6+7
3. A2 S WiRER IR 7B

— SO e,
4, A4l (NI F|

Options :



68634029769. 1
68634029770. 2
68634029771. 3
68634029772. 4

Question Number : 44 Question Id : 6863407528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BTGe (Ml TMoh oo |
RIGI] f’:t_dT fofe (ero -

A% G5 Tl P9

1. RI<k 961

| )

Ol<Rg b+
3. 4= 9be

4. &T6I oM< I54

Options :

68634029773. 1
68634029774. 2
68634029775. 3
68634029776. 4

Question Number : 44 Question Id : 6863407528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIGe (Ml Tlod ©ledH |
Hfﬁt%[\ﬂﬁ (®wg -

A2 5 T FIF

1. Wik 4B

| )

GI<pg b+
3. {19 96

4, BN YW 969

Options :

68634029773. 1
68634029774. 2
68634029775. 3
68634029776. 4



Question Number : 44 Question Id : 6863407528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BTG Ml Tod oo |
A ﬁt f’:ﬁT I\:ﬂﬁ (ole -

A2 5 T FIF

1. Wl 96+

| )

Ol<Rg b+
3. 4«4 db

4. S5 2MF 959

Options :

68634029773. 1
68634029774. 2
68634029775.3
68634029776. 4

Question Number : 45 Question Id : 6863407529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ol (FNGH HI AF #14H T A2
e B EE(GH
2. FH IVl
3. TR FHeAl
4, T4 Tl

Options :

68634029777. 1
68634029778. 2
68634029779. 3
68634029780. 4

Question Number : 45 Question Id : 6863407529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST (HAGHN HI TS 2L Hal LoE =2
1. (2N STl
2, H Wl
3. THIFT FHeAl
4. TR FHeAl

Options :

68634029777. 1
68634029778. 2
68634029779. 3
68634029780. 4

Question Number : 45 Question Id : 6863407529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OO (FAGH PR AT =LHal LoE =22
1. (20 ST 6!
2. FH IVl
3. TR Tl
4, XT4T St

Options :

68634029777. 1
68634029778. 2
68634029779. 3
68634029780. 4

Question Number : 46 Question Id : 6863407530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T (FNGH I F2eIS HiF A=T9
1. ST
2. 5fi9s
3. STHIS VAT 9
4. FF Bl

Options :



68634029781. 1
68634029782. 2
68634029783. 3
68634029784. 4

Question Number : 46 Question Id : 6863407530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O (FAGH T3] HROTF FIF =T
1. TS

2. 75

3. I NEEH 7

4. FF 9l

Options :

68634029781. 1
68634029782. 2
68634029783. 3
68634029784. 4

-

Question Number : 46 Question Id : 6863407530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (FAG T3] WZOTF FiF N=T
I CET

N RIEE]

3. I N (i

4. FF Al

Options :

68634029781. 1
68634029782. 2
68634029783. 3
68634029784. 4

[ ]

Question Number : 47 Question Id : 6863407531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIAN ZIV - NGF 4N FT I5A1
1. *[¢HS (<9
2. WISg (M9
3. 98 (M9
PR ECEAE AL

Options :

68634029785. 1
68634029786. 2
68634029787. 3
68634029788. 4

Question Number : 47 Question Id : 6863407531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIAN ZIV - NGF 4N FT I5A1
1. *[¢Hq (S
2. 018 (Mdg
3. 98 (M99
4. 2499 fAeE

Options :

68634029785. 1
68634029786. 2
68634029787. 3
68634029788. 4

Question Number : 47 Question Id : 6863407531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIEN TV - WGP U~ BT I5A
1. *[{Fq (79
2. 014 (gq
3. 98 (M99
4. 2499 fAeE

Options :



68634029785. 1
68634029786. 2
68634029787. 3
68634029788. 4

Question Number : 48 Question Id : 6863407532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

*[:9 (Mg WIT N4 (791 (e=a (S @ wifelze w1 t=ra

Iy

. &8 121y ol ul Fer1s1
2. & FoTTR I HIe LTSl
3. &% fRra1s Ni9-3g St

4. B (*rE1g YEINEw

Options :

68634029789. 1
68634029790. 2
68634029791. 3
68634029792. 4

Question Number : 48 Question Id : 6863407532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

*[:9 (Mg WIT N4 (91 (e=a (S @ wifelze w9 t=ra

.3 Rra7 el ufe) STerEsr

Iy

2. 3 AT WIS HIgeN FTIN90
3. &< MRrg7g Ni9-gg JerErsr
4. &3 fRrgrg WEIhew

Options :

68634029789. 1
68634029790. 2
68634029791. 3
68634029792. 4

Question Number : 48 Question Id : 6863407532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



*[:9 (Mg WIT N4 (91 (e=a (S @ wifelze w9 t=ra

.3 Rra7 el ufe) STerEsr

Iy

| ]

3 AT WIS FIge FTI9!
3. &< MRrg7g Ni9-gg JerErsr
4. &3 fRrgrg WEIhew

Options :

68634029789. 1
68634029790. 2
68634029791. 3
68634029792. 4

Question Number : 49 Question Id : 6863407533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA Fi0Td [[e151F (FIHI6 T &F?

1. TN - QG < - Sl
(@G - ysifearnt - wgie
B O ) ) o

4. MBI - @GS - oo fearmt - wngf<s

Options :
68634029793. 1
68634029794. 2

68634029795. 3
68634029796. 4

[ ]

L¥¥]

Question Number : 49 Question Id : 6863407533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST FAo [T (e F9 &F?
1. SR - @G - 23St
2. (ArfeG<s - 2A5ATRT - YRE
3. SR - 2B - YR
4, 2619 - @ATNGF - H5ifsamt - gf=e

Options :



68634029793. 1
68634029794. 2
68634029795. 3
68634029796. 4

Question Number : 49 Question Id : 6863407533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W Fi0Ts [[eI51F (FIFI6 T &F?
WIS - (@G - aifearR]
(@6 - A5ifeaml - wgwe

3. 5ot - 2151 - =<

4. ST - (ATGFE - osfsarmt - sy
Options :
68634029793. 1
68634029794. 2

68634029795. 3
68634029796. 4

Iy

[ ]

Question Number : 50 Question Id : 6863407534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el (HINLEI AT AR (U =T
1. 215 (4

[ ]

Al
G eI R
4. G 4

L]

Options :

68634029797. 1
68634029798. 2
68634029799. 3
68634029800. 4

Question Number : 50 Question Id : 6863407534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O (HTLET ST HF (4 =2
1. B1S (¥e
2. I
3. e 4oy
4. TG (e

Options :

68634029797. 1
68634029798. 2
68634029799. 3
68634029800. 4

Question Number : 50 Question Id : 6863407534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B (PINLO] NS T (4 =W
1. 21S (4
2. 74l
3. Feglel
4. G 4

Options :

68634029797. 1
68634029798. 2
68634029799. 3
68634029800. 4

Question Number : 51 Question Id : 6863407535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFHTSIS SHITS (el AN WGP 47T WY (62
1. FIFEF ferfsist
2. Ir=E
3. (AT
4. BISE!

Options :



68634029801. 1
68634029802. 2
68634029803. 3
68634029804. 4

Question Number : 51 Question Id : 6863407535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAFGTOTT THHITS [#4] AT NGB 4w AN (7
1. SIS fAfsret
2, G
3. (TS
4. RIGE!

Options :

68634029801. 1
68634029802. 2
68634029803. 3
68634029804. 4

Question Number : 51 Question Id : 6863407535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

APHTOI BTG (el AN WGP 47T AH 62
1. FIFEF ferfsist
2, A=
3. (TS
4. RIgE!

Options :

68634029801. 1
68634029802. 2
68634029803. 3
68634029804. 4

Question Number : 52 Question Id : 6863407536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



©eTq (U TN MZSTF 2 SR
1. |~
3. wl«{w
4, =S
Options :
68634029805. 1
68634029806. 2

68634029807. 3
68634029808. 4

| ]

Question Number : 52 Question Id : 6863407536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

©eTq (U TN MZSTF 2 SR

1. Yo
R LT
3. w[={{w
4. ¢ 5%]
Options :
68634029805. 1
68634029806. 2

68634029807. 3
68634029808. 4

[ ]

Question Number : 52 Question Id : 6863407536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B (FYN AT A ARSI AT ST
1. LTSS
3. SISl
4. =4l

Options :

| ]



68634029805. 1
68634029806. 2
68634029807. 3
68634029808. 4

Question Number : 53 Question Id : 6863407537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA FEeTs e HEeE A4 &el (&F2

1. TTERIY QG

-

2. (G2 NI5TEEe
3. 94<5IE 4l
4. O TFH

Options :

68634029809. 1
68634029810. 2
68634029811. 3
68634029812. 4

Question Number : 53 Question Id : 6863407537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WSS HEers Sife-Her S&w @&el (FH2

1. TR (TGl

[ ]

. (oI TR SISr==re

3. WPl 4l

=
4, Yol H T g4I

Options :

68634029809. 1
68634029810. 2
68634029811. 3
68634029812. 4

Question Number : 53 Question Id : 6863407537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WA FZers Sife.-SHaeE 4w @el (@

1. TR (FGEPl

| ]

. (G S =151 grel
3. S8 P4l
4. PSHENY g9

Options :

68634029809. 1
68634029810. 2
68634029811. 3
68634029812. 4

Question Number : 54 Question Id : 6863407538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

welq (R 4N Biael A2 BT SEET 517

1. (515 ST
2. 5351 #ffee
3. Gfeose
4. CIF (7Y

Options :

68634029813. 1

68634029814. 2

68634029815. 3
68634029816. 4

Question Number : 54 Question Id : 6863407538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OIS (F 4N Fiqel Y ZIF SEHHT 721
1. (918 =T
2. S51fe iR
3. GIo=

4. (N9 (M=

Options :



68634029813. 1
68634029814. 2
68634029815. 3
68634029816. 4

Question Number : 54 Question Id : 6863407538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OIS (F 4N Fiqel Y ZIF SEHHT 721
1. (918 =T
2. S51fe iR
3. GIo=

4. (N9 (M=

Options :

68634029813. 1
68634029814. 2
68634029815. 3
68634029816. 4

Question Number : 55 Question Id : 6863407539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (B T FIIS DlAole WIS foie A0 WE FYHT I D=0 =70
TN T
Sicpiceagy

3. W dPIE o4l

—

[ ]

4. (G S SISEEET

Options :

68634029817. 1
68634029818. 2
68634029819. 3
68634029820. 4

Question Number : 55 Question Id : 6863407539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B9 (BN Gl B PIIOT® WD oflS TR WS Pgoe Al G=97 =80
Slerafs T
B e

3. 9<B1E 4l

i

| o]

4. COUITS ST SIEET
Options :
68634029817. 1
68634029818. 2

68634029819. 3
68634029820. 4

Question Number : 55 Question Id : 6863407539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (B T FIIS DlAole WIS foie A0 WE FYHT I D=0 =70
TN T
Sicpiceagy

3. W dPIE o4l

—

| ]

4, (G HIEE

Options :

68634029817. 1
68634029818. 2
68634029819. 3
68634029820. 4

Question Number : 56 Question Id : 6863407540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

©eq (B U 12 S FIC9T O F IS WH5fE 7239

1. 5513

| ]

AT
3. T95R
4, Wiyt

Options :



68634029821. 1
68634029822. 2
68634029823. 3
68634029824. 4

Question Number : 56 Question Id : 6863407540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

©eq (B U 12 S FIC9T O F IS WH5fE 7239

1. W5MS

[ ]

RCE I E |
3. 999919

4, TR

Options :

68634029821. 1
68634029822. 2
68634029823. 3
68634029824. 4

Question Number : 56 Question Id : 6863407540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OeTE (B 4 12 S FIHd GF BT WHoNo 751

1. 558

[ ]

AT
3. TER
4, Wiyt

Options :

68634029821. 1
68634029822. 2
68634029823. 3
68634029824. 4

Question Number : 57 Question Id : 6863407541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(I 4 S5F WEAIIT HiAfoIe Glans HosE 9ol (SR (20%?

1. ﬂqﬂ\sﬂ
2. SIS
3, WGHN-w &
4, NTSTCETSY

Options :

68634029825. 1

68634029826. 2

68634029827. 3
68634029828. 4

Question Number : 57 Question Id : 6863407541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(P U % VIHAAIS A2(GTF GigwE SIOSE el (SRT (=D
1. FEw
OIS
Y-S &

4. ~ECEET

| ]

L]

Options :

68634029825. 1
68634029826. 2
68634029827. 3
68634029828. 4

Question Number : 57 Question Id : 6863407541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(FM L SZF NHAII TR G Dl oBS I (ST (2R?
1. $hoA
2. SIS
3. YH-G &
4. TSI

Options :



68634029825. 1
68634029826. 2
68634029827. 3
68634029828. 4

Question Number : 58 Question Id : 6863407542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@515 AW Eﬁ}[%ﬂifﬂﬁfﬁ?%‘f %‘_‘15 59 (FA® (TN6H I9419 S (L6
— il
1. '(RACPRE 950 dI<$] 411w @3y Wil

2. "SR FHEI FHAT T (T = 7 ([amTs @y M|

T

3. AR SSHT I5-T SRR

! it

4, "I (GG AR SR |

Options :

68634029829. 1
68634029830. 2
68634029831. 3
68634029832. 4

Question Number : 58 Question Id : 6863407542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST O BRI I 3 RS CFae (N6 I9d19 WA (6N
1. '(ZACHTY 61 9167 [AeITe @y Mge|
2. IR AHEI FHAICE AT T & 39 fFas ey Mg |
3. NG SIS 96+ SR |
4, AT (GG ST FIRR4 |

Options :

68634029829. 1
68634029830. 2
68634029831. 3
68634029832. 4

Question Number : 58 Question Id : 6863407542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST O BRI I 3 RS CFae (N6 I9d19 WA (6N
1. '(ZACHTY 61 9167 [AeITe @y Mge|

SIS R TFEE IHACE AT T o 3¢ e sy Mg |

3. NG SIS 96+ SR |

4, AT (GG ST FIRR4 |

Options :

68634029829. 1
68634029830. 2
68634029831. 3
68634029832. 4

| ]

Question Number : 59 Question Id : 6863407543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"CTE GIES (R - WIS T (SOESFI2 I57] S 575 ¥ [ 951 AR
1. S Gl
2. \SHNIH
3. A 6P
4, G

Options :

68634029833. 1
68634029834, 2
68634029835. 3
68634029836. 4

Question Number : 59 Question Id : 6863407543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" (T G (RG99 - NN TR (IGEE a2 I57] 41 57% U [ 9157 AT
1. WGt
2. \SHNITH
3. A I6P
4. G

Options :



68634029833. 1
68634029834. 2
68634029835. 3
68634029836. 4

Question Number : 59 Question Id : 6863407543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T o < O BV o 1 R e T | R v o R A R ) o [ )

1- E] i éé \1
2. G
3. WIoH
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Options :

68634029833. 1

68634029834. 2

68634029835. 3
68634029836. 4

Question Number : 60 Question Id : 6863407544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OeTq (HFINLET (GUITSSHT SISEAER Hiaol T3
e St
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4, el fofd

Options :

68634029837. 1
68634029838. 2
68634029839. 3
68634029840. 4

Question Number : 60 Question Id : 6863407544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. T5erg fof3
Options :
68634029837. 1
68634029838. 2

68634029839. 3
68634029840. 4

Question Number : 60 Question Id : 6863407544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Eiery gt
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4, el fofd

Options :

68634029837. 1
68634029838. 2
68634029839. 3
68634029840. 4

Question Number : 61 Question Id : 6863407545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. (@ArTfoe fo@E o

Options :



68634029841. 1
68634029842. 2
68634029843. 3
68634029844. 4

Question Number : 61 Question Id : 6863407545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(R [T R L) ) KR B [ o s e I R R
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Options :

68634029841. 1
68634029842. 2
68634029843. 3
68634029844. 4

Question Number : 61 Question Id : 6863407545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(S 1[5 bl Lo B 1 1 R TG (P o B R [T VR
1. FTNT (a1 fo@
2o TETNEE G oS Q51=TR! ST (AT SN AR |
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Options :

68634029841. 1
68634029842, 2
68634029843. 3
68634029844. 4
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Question Number : 62 Question Id : 6863407546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 98 RG]

Options :

68634029845. 1
68634029846. 2
68634029847. 3
68634029848. 4

Question Number : 62 Question Id : 6863407546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029845. 1
68634029846. 2
68634029847. 3
68634029848. 4

Question Number : 62 Question Id : 6863407546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029845. 1
68634029846. 2
68634029847. 3
68634029848. 4

Question Number : 63 Question Id : 6863407547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029849. 1
68634029850. 2
68634029851. 3
68634029852. 4

Question Number : 63 Question Id : 6863407547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029849. 1
68634029850. 2
68634029851. 3
68634029852. 4

Question Number : 63 Question Id : 6863407547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. wgWT S
3. @E\:ﬂ“f‘iﬁ
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Options :

68634029849. 1
68634029850. 2
68634029851. 3
68634029852. 4

Question Number : 64 Question Id : 6863407548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (B ST<R] AT HI2STE 51 05 ST I I N6 H0S] SIaH SI5EEIED?
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Options :

68634029853. 1
68634029854, 2
68634029855. 3
68634029856. 4

Question Number : 64 Question Id : 6863407548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TR 991
2. G, qrsfe =l

3. (O79® SIS 5=l

4, STIHAY SEHT

Options :

68634029853. 1
68634029854. 2
68634029855. 3
68634029856. 4

Question Number : 64 Question Id : 6863407548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEH (B SETB] AT MRSTI A5 TS ST I WO B0l WA SI5ETIET?
1. TR 41
2. G qrsfeE =l

3. OTIS® FUIS Bz

4, SIAEAI FEBIE
Options :
68634029853. 1
68634029854. 2

68634029855. 3
68634029856. 4

Question Number : 65 Question Id : 6863407549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5. I FA6Y (STATRE (H 4N AT SINod RAS 961 o F1H0R?
1. 59 oife
2. TTH 41 SN
3. oIe Tro1F OUN (UIE1 20wl
4, NETHF TG

Options :




68634029857. 1
68634029858. 2
68634029859. 3
68634029860. 4

Question Number : 65 Question Id : 6863407549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Blv=s oife
2. W 491 SIERE
3. FoTel ZroI9 GUH (YT ZIGHI
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Options :

68634029857. 1
68634029858. 2
68634029859. 3
68634029860. 4

Question Number : 65 Question Id : 6863407549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 59 oife

TN 41 ST

3. oIe Tro1F OUN (UIE1 20wl
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Options :

68634029857. 1
68634029858. 2
68634029859. 3
68634029860. 4
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Question Number : 66 Question Id : 6863407550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. SIS A FAAT=
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Options :

68634029861. 1
68634029862. 2
68634029863. 3
68634029864. 4

Question Number : 66 Question Id : 6863407550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029861. 1
68634029862. 2
68634029863. 3
68634029864. 4



Question Number : 66 Question Id : 6863407550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. SSFS W HZH]
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Options :

68634029861. 1
68634029862. 2
68634029863. 3
68634029864. 4

Question Number : 67 Question Id : 6863407551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634029865. 1
68634029866. 2
68634029867. 3
68634029868. 4

Question Number : 67 Question Id : 6863407551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029865. 1
68634029866. 2
68634029867. 3
68634029868. 4

Question Number : 67 Question Id : 6863407551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029865. 1
68634029866. 2
68634029867. 3
68634029868. 4

Question Number : 68 Question Id : 6863407552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634029869. 1
68634029870. 2

68634029871. 3
68634029872. 4



Question Number : 68 Question Id : 6863407552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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BeTe M R STURT 991 9% OS0! AN OfeTsdl

1.B
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4.D
Options :
68634029869. 1
68634029870. 2

68634029871. 3
68634029872. 4

Question Number : 68 Question Id : 6863407552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634029869. 1
68634029870. 2
68634029871. 3
68634029872. 4

Question Number : 69 Question Id : 6863407553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029873. 1
68634029874. 2
68634029875. 3
68634029876. 4

Question Number : 69 Question Id : 6863407553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029873. 1
68634029874. 2
68634029875. 3
68634029876. 4

Question Number : 69 Question Id : 6863407553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029873. 1
68634029874. 2
68634029875. 3
68634029876. 4



Question Number : 70 Question Id : 6863407554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029877. 1
68634029878. 2
68634029879. 3
68634029880. 4

Question Number : 70 Question Id : 6863407554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634029877. 1
68634029878. 2
68634029879. 3
68634029880. 4

Question Number : 70 Question Id : 6863407554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029877. 1
68634029878. 2
68634029879. 3
68634029880. 4

Question Number : 71 Question Id : 6863407555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029881. 1

68634029882. 2

68634029883. 3
68634029884. 4

Question Number : 71 Question Id : 6863407555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634029881. 1



68634029882. 2
68634029883. 3
68634029884. 4

Question Number : 71 Question Id : 6863407555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029881. 1
68634029882. 2
68634029883. 3
68634029884. 4

Question Number : 72 Question Id : 6863407556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029886. 2
68634029887. 3
68634029888. 4

Question Number : 72 Question Id : 6863407556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029887. 3
68634029888. 4



Question Number : 72 Question Id : 6863407556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029886. 2
68634029887. 3
68634029888. 4

Question Number : 73 Question Id : 6863407557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029889. 1
68634029890. 2



68634029891. 3
68634029892. 4

Question Number : 73 Question Id : 6863407557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029889. 1
68634029890. 2
68634029891. 3
68634029892. 4

Question Number : 73 Question Id : 6863407557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029889. 1
68634029890. 2
68634029891. 3
68634029892. 4

Question Number : 74 Question Id : 6863407558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. N(HETTH
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Options :

68634029893. 1
68634029894. 2
68634029895. 3
68634029896. 4



Question Number : 74 Question Id : 6863407558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029893. 1
68634029894. 2
68634029895. 3
68634029896. 4

Question Number : 74 Question Id : 6863407558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029893. 1
68634029894. 2
68634029895. 3
68634029896. 4

Question Number : 75 Question Id : 6863407559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029897. 1
68634029898. 2
68634029899. 3
68634029900. 4

Question Number : 75 Question Id : 6863407559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029898. 2
68634029899. 3
68634029900. 4

Question Number : 75 Question Id : 6863407559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 76 Question Id : 6863407560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029901. 1
68634029902. 2
68634029903. 3
68634029904. 4

Question Number : 76 Question Id : 6863407560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029901. 1
68634029902. 2
68634029903. 3
68634029904. 4

Question Number : 76 Question Id : 6863407560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029902. 2
68634029903. 3
68634029904. 4

Question Number : 77 Question Id : 6863407561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST (4199 3= e =62

A grsit
B. *¥HI
C. Foe
D. (Ha=51a!
E. S H%

T

weTe Ml (R9eg STYRT 91 ©% S8HL0! AR Glersdl

1.CNI$ D

| )

B

A

LFY]

4. E

Options :

68634029905. 1
68634029906. 2
68634029907. 3
68634029908. 4

Question Number : 77 Question Id : 6863407561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029906. 2
68634029907. 3
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Question Number : 77 Question Id : 6863407561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029905. 1
68634029906. 2
68634029907. 3
68634029908. 4

Question Number : 78 Question Id : 6863407562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029909. 1
68634029910. 2
68634029911. 3
68634029912. 4

Question Number : 78 Question Id : 6863407562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029909. 1
68634029910. 2
68634029911. 3
68634029912. 4

Question Number : 78 Question Id : 6863407562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029909. 1
68634029910. 2
68634029911. 3
68634029912. 4

Question Number : 79 Question Id : 6863407563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029913. 1
68634029914. 2
68634029915. 3
68634029916. 4



Question Number : 79 Question Id : 6863407563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029914. 2
68634029915. 3
68634029916. 4

Question Number : 79 Question Id : 6863407563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029916. 4

Question Number : 80 Question Id : 6863407564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029919. 3
68634029920. 4

Question Number : 80 Question Id : 6863407564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 80 Question Id : 6863407564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 81 Question Id : 6863407565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029922. 2
68634029923. 3
68634029924. 4

Question Number : 81 Question Id : 6863407565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029921. 1
68634029922, 2
68634029923. 3
68634029924. 4

Question Number : 81 Question Id : 6863407565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 82 Question Id : 6863407566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 82 Question Id : 6863407566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 82 Question Id : 6863407566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 83 Question Id : 6863407567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 83 Question Id : 6863407567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 83 Question Id : 6863407567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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